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(i) 9 x 10 = 90

10 (i) 90 x 10
SRS Learning Limited

Turn over for more questions

number x 10 etc (7) warm up

Th | H|T|U

=50

number x 10 etc (7) warm up

no calculator

) 50 x 10

(i) 5 x 10
10 (iii) 500 x 10 = 5000
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Complete these place value grids and calculations

Th H|T|U

GlOES(O)




no calculator number x 10 etc (7) warm up timelypractice.com

Complete these calculations.

You may use the place value grids.

Th|H|T|U|Th|H|T| U ||Th  H|T| U ||Th | H|{T|U|Th| H|T| U

710 8101 O 5101 0 210 4101 0

Th H|T| U ||Th | H|T|U||Th|H|T|U|Th | H|T| U ||Th|H|T|]U

Complete these calculations.

You may use the place value grids.

Th|H|T|U|Th|H|T| U ||Th H|T| U ||Th | H|{T|U| Th| H|T| U

710 8101 O 5101 0 210 4101 0

70 x 10 = ........ 10 x 800 = ........ 500 x 10 = ........ 20 x 10 = ........ 10 x 400 = ........

Th H|T| U ||Th | H|T|U||Th|H|T|U| Th|H|T| U ||Th|H|T|U

100 x 10 = ........ 10 x90 = ........ 30x10 = ... 10 x 700 = ........ 80 x 10 = ...

Complete these calculations

10 x 10 = ........ 10 x 200 = ........ 60 x 10 = ........ 10 x 900 = ........ 40 x 10 = ........

300 x 10 = ........ 50 x 10 = ........ 10 x 600 = ........ 90 x 10 = ........ 100 x 10 = ........
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